GIAI BAI TAP 10 TRANG 90
SGK TOAN 7 TAP 2 - PAI SO

Dé bai

Cho cac da thuc

A=x2-2x -y>+3y-1

B=-2x2+3y?-5x+y+3
C=3x2—-2xy+7y?—3x—-5y—6

Tinh:

a)A+B-C; b) A-B +C; c)-A+B+C.
Phuwong phap

Ap dung qui tic cong, trir cac da thic.

Huéng din gidi
a) A= —-2x-y?+3y—-1
B = —2x? —5x+3y2+y+3

—C=-3x?>+2xy+3x—7y*+5y+6

A+B—C=—4x?+2xy —4x—-5y> +9y +8

b) A=x* —2x—y*+3y—-1
—B = 2x? +5x -3y —y—3
C=3x2-2xy—-3x+7y*-5y—6

A-B+C=6x?-2xy +3y*-3y—10

c) —-A=—x2 +2x+y*-3y+1
B = —2x? ~5x+3y°+y+3
C=3x*-2xy—3x+7y*—-5y—6

~A+B+C = —2xy —6x+11y* -7y -2
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